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Mg AR A

20144%£1A1H~10H FIFE (87)

(1/5)

BAma |5TE [ 10°CULTEERR of |&RElpTe [ [ 10°CLLETEHSR| 21
Bt SUR(CC) A - ELE(m/s) %7K = (mm) =] B SURCC) A - LR (m/s) %7K = (mm) HER
T | &e | RE | 8| &2 | &KX | AR | BE | &R | 55 | 1858 | 109 | G) Y| &a | &E | FH | KZ | &KX | AR | BEE | &R | BE | 1856 | 105 ] ()

1 80| 106] 44| 38| Nw| 63| Nw|[ 147] NNW| 00 00| 00| 28 1 85 157 35 29 N| 55 N| 74| NNW[ 00 00| 00| 80

2 57| 127 -05| 25| Nw| 46| Nw| 86| Nw| 00 00 00| 87 2 75| 152 06| 21 NNE| 53] NNE[ 67] NNE[ 0.0 00 00| 88

3 33| 98] -24| o09] NNw| 26| NNW[ 41| NNW| 00 00 00 18 3 88| 136 34 29/ NNE| 56 N| 76| NNE| 00 00| 00| 35

4 63| 127] 15| 21| NNw| 48] NNw|[ 93] sw| o0 00 00| 69 4 104 153 56| 37 N| 72 N| 104] NE[ 00 00| 00| 60

5 47| 107] -19] 19 Nw| 46| Nw| 100] NNW| 00 00| 00| 59 5 79 122 39| 41 N| 73 N| 112] NE| 00 00| 00| 72

6 39| 98] -16] 18] Nw| 43| Nw|[ 78] NNW| 00 00| 00| 74 6 66 119 11| 25 N| 62 NE| 114 NE| 00 00| 00| 66

7 40| 138| -44| 12| Nw| 35| SSE| 65| ESE| 00 00| o0 77 7 77| 140 19| 3.1 N| 6.1 N| 72| NNE| 00 00| 00 87

8 75 109] 48] 13| Nw| 59| Nw|[ 107] wNw| 105 40| 10f 00 8 106] 139 86| 30 N| 127] NNw| 204 N| 90| 35 15 00

9 26| 65| -25| 38| Nw| 67| Nw| 144 NNW| 00 00 00| 39 9 6.7 95 14| 31| Ne| 86/ NE| 170/ NE| 00 00| o0 78
10 -04| 35| -27| 26| Nw| 49 Nw| 100[ Nw| 00 00 00| 75 10 33 81 -24| 40| NNW| 96| NNE| 17.8] NNE| 00 00 00| 88
B4l 56| 113 02| 22| Nw 0.0 26.1 BIEA| 86| 144 34| 3.1 N 0.0 335
#%¥4a| 35 89 -13] 21| Nw 10.5 26.5 ®Eq| 70 115 21| 31 N 9.0 31.9
)| 46| 101] -05| 22[ Nw 105 52.6 f| 78] 129 28| 31 N 9.0 65.4
FHEE/| +06| +03] +03 83 121 |E&E=/| 00| -02| -04 61 115
HAmA |%&E [ 10°CULETBEHSR 0| |&BAFrE |ERE [ 10°CLLEREHESR| 10
Bt SUR(CC) R - ELE(m/s) %7K = (mm) (=] B SUR(CC) A - LR (m/s) %7K = (mm) HEg
TH | &e | RE | Y| &2 | &KX | AR | BE | &R | 55 | 1658 | 105 | G) iy | &a | &E | FH | KZ [ &KX | AR | BEE | &R | BE | 1856 | 105 ] ()

1 63| 92| 22| 22| ssw| 41| ssw| 131 ssw| o0 00| 00| 3.1 1 86| 153 18] 4.1 w| 11.4] wNw| 165] wNw| 00 00| 00| 88

2 39| 106] -06| 1.1] NE[| 33| ssw| 75| ssw| o0 00 00| 53 2 87| 164 30 26 wsw| 57 wl 98 w|l 00 00 00| 89

3 39| 100| -16| 06| ENE| 24| wsw| 56| sw| o0 00 00| 03 3 82| 134 27| 22| wsw 5| wsw| 7.6] wsw| 00 00| 00| 25

4 42| 110 05| 04 S 3| ssw| 6.9] ENE[ 00 00| 00| 64 4 93] 158 49| 16 w| 37| ESE[ 6.1 NE[ 00 00 00| 71

5 36| 102] -17] 09 w| 33| ssw| 66/ ENE|] 00 00| 00| 41 5 73] 131 26| 23 w| 51| NE[ 83] NNE| 00 00| 00| 66

6 18| 73] -29] 07 ENE| 24| ENE| 58 NE| 00 00| 00| 47 6 58 119 05 2.3 wsw 7 N| 127 Nl 00 00| 00| 77

7 36| 133] -39| 08 E| 24| ENE| 62| NE| 00 00| 00| 6.1 7 76| 145 12| 24 wl 48 w|l 6.7 wsw| o0 00| 00| 86

8 71 11.7] 40| 07 w| 34 sw| 71| wsw| 150 50[ 15/ 00 8 104 124 87| 16 wsw| 55| NNw[ 80f NNW| 50 20| 05| 00

9 03| 43| -41| 16| NE| 33 NE| 91| ENE| 30 15 05 22 9 6.5 9.3 18| 52 wl 93 W[ 146 w| 00 00 o0 79
10 -25| 20| -54| o09] NE| 24| sse| 69 sw| o0 00| 00| 6.1 10 34 85 -04| 36| wsw| 6.6 wsw| 115 w|l 00 00 00 98
mia)| 44| 102 -02| 1.0] sSsw 0.0 19.2 BiEAE]| 84| 148 30| 26 W 0.0 33.9
#®¥4a| 21| 77| -25| 09 NE 18.0 19.1 ®¥4q| 67 113 24 30| wsw 5.0 34.0
/| 32| 90| -13] 10f NE 18.0 38.3 || 76 131 27| 28 W 5.0 67.9
FEE/E| +1.1] +16] +11 77 124 |EEZ/| +06] +02| +09 35 108




Mg AR A

20144%£1A1H~10H FIFE (87)

(2/5)

B4 A 10°CA EREESGE| 11| |BAlFRa |[#F 10°CLL ETEE S 0
Bt SUR(CC) A - ELE(m/s) %7K = (mm) =] B SURCC) A - LR (m/s) %7K = (mm) HER
T | &e | RE | 8| &2 | &KX | AR | BE | &R | 55 | 1858 | 109 | G) Y| &a | &E | FH | KZ | &KX | AR | BEE | &R | BE | 1856 | 105 ] ()

1 6.7 168| 05| 14 w| 51| wNw| 10.1] WNw| 0.0 00| 00| 86 1 84| 132] -10| 13| sse| 29| NNE| 13.1] NNE| 00 00 00| 37

2 70| 159] 10| 15| wsw| 37| wsw| 6.0 w|l 00 00 00| 88 2 34 158 -36] 04 S 2| SSE| 40| SSE[ 00 00 00| 82

3 88| 141| 35| 16 w| 38| wsw| 7.2 wnw| 00 00| 00| 33 3 36| 109 -28 o1 s| 13 N| 26| NNW[ 00 00 o0 17

4 93| 161] 51| 13 w| 29 w| 5.1 E| 00 00| 00| 74 4 56| 158 01| 04 S| 24| SSE| 46| SSE| 00 00 00| 56

5 78| 142| 32| 17 w| 42 N| 69 N| 00 00| 00| 7.1 5 31 131 -32| 03] SSE| 22 s| 54 s| o0 00| 00| 50

6 59| 135 -04| 12| wsw| 34| NE[ 67] NE| 00 00 00| 85 6 28 118| -36] 05 SSE| 24| sse| 51 Nw| 00 00 00| 82

7 81 147] 27| 18] wNw| 35| wNw| 638 w| 00 00| 00| 63 7 53| 149 -28 05 sse| 25| sse| 55| SE[ 00 00| 00| 67

8 108 134| 89 13 w| 37| wNw| 65 w| 60/ 30| 10 o0 8 85 109 6.6 0.1 N 1| NNw| 23| SE| 185| 55 15/ 00

9 6.3 97| 20| 3.3] WNW 7| NNw| 126 N| 00 00 o0 72 9 34 78] -39 08| NNE[ 3.1 N| 95| sw| 00 00| 00| 68
10 38 95 06| 30 w| 6.1 w|l 129 w|l 00 00 00| 88 10 -1.0 77| -64| 05| SE[ 22| SSE| 52| ESE[| 00 00| 00| 84
B4l 79| 154 27| 15 w 0.0 35.2 miEA)| 48/ 138 -21f 05 S 0.0 24.2
#®Ea| 70| 122 28 21 w 6.0 308 #%¥4e| 38 106 -20f 05| SSE 18.5 30.1
/)| 75| 138] 27| 18 w 6.0 66.0 & 43 122 -21] 05 S 185 54.3
FHEE/E| +03| +05| +08 41 109 |FEZ/| +04 00| +02 129 100
BHmA |BERR 10°CLL LTEE SRR of |gBme [k 10°CULEREHESGR| 33
Bt SUR(CC) R - ELE(m/s) %7K = (mm) (=] B SURCcC) A - LR (m/s) %7K = (mm) HEg
TH | &e | RE | Y| &2 | &KX | BAM | BE | &R | 55 | 1858 | 105 | G) iy | &E | &E | FH | KZ [ &KX | AR | BEE | &R | BE | 1856 | 105 ] ()

1 96| 134 47| 13| sSE| 48] sE[ 11.7] ESE[] 00 00| 00| 3.1 1 105 162 a1 27 Wl 66 w| 128 w| 00 00| 00| 76

2 59| 150/ 06| 04| NE[ 21| NNE[ 54 ssw| o0 00 00| 62 2 83| 159 171 16| Nw| 34| ESE| 63| ENE| 00 00 00| 93

3 56/ 110 -05| 02| sSw| 12| NNE| 22| NNE| 05 05 05 10 3 9.1 140 34 1.3 wnw| 24| wnw| 3.4 waw| 00 00| 00| 32

4 69| 149] 24| 05| NNE| 24| SSE[ 73 s| o0 00 00| 62 4 103 151 6.4 14 wNnw| 31| sse[ 51| sse| 00 00 00| 82

5 47| 130 -07| 04| NW 4 SE| 79 s| o0 00| 00| 47 5 86| 136 39| 16 wnw| 32| sse[ 55| SE| 00 00| 00| 82

6 33| 116] -16| 04| ssw| 27| ESe| 45| ESE[ 00 00| 00| 6.1 6 72| 124 32| 15 WNw| 33| NNW| 64 Nl 00 00| 00| 80

7 56| 140| -12| 06| wsw| 37| wsw| 65 wsw| 00 00| 00| 45 7 89| 142 22 13 nNw| 26| NE[ 46| NE| 00 00| 00| 83

8 87| 118/ 69| 04| ssw| 37| NNE[ 87| NE[| 190 60| 15| 00 8 120 143| 102 11| nNw| 29 NE[ 63| NE| 70 40| 15| 00

9 48| 86| -13] 09| NNE 3| NNE| 102 s| o0 00| 00| 52 9 75 120 13| 24| wNw| 55 wNw| 10.1] NNE| 00 00 00 93

10 07| 73| -32| 12| SSE| 39| SSE| 84 s| o0 00 00| 63 10 4.1 9.1 02| 22 W[ 44| WNW| 81| WNW| 00 00 00 97
midf)| 65| 135 13| 06] NE 05 21.2 BIEA| 94| 150 39| 1.7] WNW 0.0 36.5
#%¥4a| 46| 107 -01] 07 NNE 19.0 22.1 ®Eq| 79 124 34 17 Nw 7.0 35.3
&) 56| 121 o6 06 NE 195 433 || 87 137 37| 1.7] waw 7.0 718
FEE/| +06| +07] +06 17 11| | E&E=/| +10 +02] +13 47 112




Mg AR A

20144%£1A1H~10H FIFE (87)

(3/5)

BHFTA | AR 10°CULTEERR of |&RBlErE [FEH 10°CULEREHESR| 22
Bt SUR(CC) A - ELE(m/s) %7K = (mm) =] B SURCC) A - LR (m/s) %7K = (mm) HER
T | &e | RE | 8| &2 | &KX | AR | BE | &R | 55 | 1858 | 109 | G) Y| &a | &E | FH | KZ | &KX | AR | BEE | &R | BE | 1856 | 105 ] ()

1 79 129] 22| 28 w| 1.3 w| 122 w| 00 00| 00| 24 1 1.1 164 48] 36 wl 92 w| 146 wsw| 00 00| 00| 62

2 54| 144] -11| 14| WNW| 54| wsw| 104 w|l 00 00[ 00| 90 2 70 1723 -05| 19| wNw| 43| wnw| 7.0 WNW| 0.0 00 00 92

3 50 101] -10] 04| Nw| 14 s| 28] wnw| 05 05 05 1.7 3 72| 139 03 13 Nw| 34 w| 47 w| 00 00| 00| 25

4 69| 142| 16| 12| Nw| 42 Nw|[ 73] Nw| 00 00 00| 71 4 90| 157 42| 15/ WNw 5 E| 77| ESE| 00 00| 00| 80

5 46| 124 -18] 1.1 WSW| 4.1] NNwW| 90 w| 00 00| 00| 43 5 65 138 04 20 Nw| 51| ESE| 73 E| 00 00| 00| 78

6 41 113 -08] 10 E| 32 Nw| 52| Nw| 00 00| 00| 80 6 53 125 04 17| wNw| 44| wNw| 57 E| 00 00| 00| 81

7 6.6] 153| -25| 1.2 E| 35 E| 70 E| 00 00 00| 75 7 78| 146 00| 16 wnw| 38| ESE[ 63| ESE[ 00 00 00 72

8 97| 130 77| 18] wsw| 6.1] NNwW| 119 w| 200/ 90| 30 o0 8 11.0] 140 91| 14 Wl 46 w|l 75 wnw| 85| 40| 10| 00

9 42| 81| -16] 41 WNw| 7.1] Nw| 140] Nw| 05 05| 05 50 9 7.1 109 10 41| wnw| 96 w| 143 w| 00 00| 00 92
10 09| 57| -30| 24 w| 57 Nw| 102 NNW]| 00 00 00| 82 10 25 92| -28] 20| wNw| 46 E| 69| ESE| 00 00 00| 98
B4l 60| 128] 00| 14 w 05 245 mIEA| 82| 154 1.8 21| wNw 0.0 33.7
#®Ea| 51| 107] o0 21 E 205 28.7 ®Eq| 67 122 15| 22| wNw 8.5 343
/| 55| 11.7] oo 17 w 21.0 53.2 4| 75 138 17 2.1] wNw 85 68.0
FEE/E| +03] +07| +041 121 122 |EEZ/| +05] +02| +06 57 115
BAFRA |/ 10°C EREE SR of |gBlme [=& 10°CULEREHESR| 23
Bt SUR(CC) R - ELE(m/s) %7K = (mm) (=] B SUR(CC) A - LR (m/s) %7K = (mm) HEg
TH | &e | RE | Y| &2 | &KX | BAM | BE | &R | 55 | 1858 | 105 | G) iy | &E | &E | FH | KZ [ &KX | AR | BEE | &R | BE | 1856 | 105 ] ()

1 90| 129] 52| 33] Nw| 69| Nw| 142 Nw| o0 00| 00| 46 1 116] 165 6.1] 52 Wl 124 w| 188 w| 00 00| o0 78

2 80| 146] 19| 23] WNW 6] NNwW| 10.7] NNW[ 00 00[ 00| 90 2 94 170 32| 37 wnw| 78 w| 10.7[ wsw| 0.0 00 00 92

3 72| 116] 17| 11| Nw| 42| wNw| 65 w| 00 00 00| 16 3 82| 134 30 27| waw| 53] wNw| 64| Nw| 05 05 05 23

4 87| 144| 41| 32| wNw| 55| Nw|[ 99 NNW| 00 00 00| 82 4 99| 167 55 27 wNnw| 51| ESE[ 69| ESE[| 00 00 00| 83

5 71| 127 22 28] wnw| 45| wnw|  7.1[ NNW| 00 00| 00| 6.1 5 85 150 29| 29 wnw| 52| waw| 72 Nw| 00 00| 00| 76

6 57| 114] 07| 18] wNw| 49 w| 70 w|l 00 00| 00| 79 6 66| 125 16| 26| wNw| 46] WNW| 57| ESE| 00 00| 00| 74

7 76| 141 o6l 15| ESE 5 se| 72[ sSEl 00 00| 00| 60 7 82 141 12| 25| wNw| 43| wNw| 6.9 E| 00 00| 00| 7.1

8 98| 125 75| 17| SE| 68| wNw| 134 wnw| 225 90| 20 00 8 116 147 95 26 wnw| 78 wl 121 w| 90| 55| 20 o1

9 41| 79| -08] 50 Nw| 82| Nw| 146] WNW| 05 05 05 53 9 72| 104 12| 6.1 w| 10.1 w| 149 w| 00 00| 00| 95

10 15| 55| -11| 36| wnw| 57] wnw| 9.7 wnw| 0.0 00 00| 95 10 3.6 94 -12] 29 wl 58 Wl 85 w|l 00 00[ 00 99
B4l 80 132 30| 25 wNw 0.0 29.5 mIEA| 95| 157 41| 34| WNW 05 35.2
#®¥a| 57 103 14| 27 Nw 23.0 28.7 ®Eq| 74| 122 25 3.3 WNW 9.0 34.0
& 69| 118] 22 26| wnw 23.0 58.2 f| 85 140 33| 3.4 wnw 9.5 69.2
FEE/E| +15 +1.7] +08 200 105 |FE&E=/| +06] +08] +05 63 114




Mg AR A

20144%£1A1H~10H FIFE (87)

(4/5)
BAma |55 10°CLLEREESR| 47| |8EIERA |FiT 10°CLLEREHESR| 45
Bt SUR(CC) A - ELE(m/s) %7K = (mm) =] B SURCC) A - LR (m/s) %7K = (mm) HEg
T | &e | RE | 8| &2 | &KX | AR | BE | &R | 55 | 1858 | 105 | G) Y| &a | &E | FH | KZ [ &KX | AR | BEE | &R | BE | 1856 | 105 ] ()
1 122 159 87| 28] WNW| 52| WNW| 12.6 w| 00 00| o0 47 1 11.7] 164 72| 62 w| 12.4] wNw| 17.0] wNwW| 00 00[ 00
2 11.1] 168| 69| 25| wnw| 48] Nw| 101 Nw| 00 00 00| 82 2 100 175 31 41 wl 88 w| 11.8[ wsw| 0.0 00[ 00
3 95 133] 48] 10 w| 27 Wl 45 w| 05 05 05 1.9 3 85 135 27| 27| waw| 51 waw|  7.7] waw| 05 05| 05
4 11.2| 163] 75| 20 w| 32 w| 6.4 WNW| 00 00 00 78 4 107 173 6.2 32| wNnw| 47| wnw| 67 sw| o0 00[ 00
5 98| 140| 65| 21| wnw| 44| wnw| 76| waw| 00 00| 00| 68 5 88| 142 35 3.1 w| 53] ENE[ 77| Nw| 00 00| 00
6 83| 11.7] 52| 23] wNw| 3.7 wNw| 6.9 w|l 00 00| 00| 66 6 72| 122 24 32| wnw| 49| ENE[ 77| ENE| 0.0 00| 00
7 98| 138] 51| 20 w| 35 w| 57 WNW| 00 00| 00| 63 7 86| 143 13| 30| wNw| 46/ wnw| 6.7 NNE| 00 00[ 00
8 12.8] 147] 107| 23] wNw| 89| wNw| 157 w| 85 60| 15 00 8 121] 146 96| 32 wnw| 106 w| 154 wNw| 70| 45| 10
9 76| 108] 25| 47| wnw| 84| wnw| 157 wnw| 00 00| 00| 83 9 71 111 13| 77 W[ 106] WNW| 144 w| 00 00[ 00
10 41| 91| 10| 33| WNW| 54| WNW| 103 w|l 00 00 00| 86 10 4.1 9Nl 04| 54 wl 83 w| 103 w|l 00 00[ 00
B4 108 153[ 6.9 21| WNwW 05 29.4 AIEA| 99| 158 45| 39 W 0.5
#%¥4a| 85 120 49| 29[ wNw 8.5 29.8 %Ea| 78] 124 30 45 W 7.0
)| 96| 136] 59 25 wnw 9.0 59.2 a4 89| 141 38| 42 W 75
FEE/E| +1.0] +05] +15 49 114 |EE=/| +13] +14] +10 156
BAFRA |#E 10°C EREESGE| 21| |BAlFRa |miE 10°CLLEREHESR| 48
Bt SUR(CC) R - ELE(m/s) %7K = (mm) (=] B SURCcC) A - LR (m/s) %7K = (mm) HEg
TH | &e | RE | Y| &2 | &KX | BAM | BE | &R | 55 | 1858 | 105 | G) iy | &E | &E | FH | KZ [ &KX | AR | BEE | &R | BE | 1856 | 105 ] ()
1 104 152| 49| 23 w| 53] wnw| 11.2] Nw| 00 00| 00| 35 1 130 166 74| 44 wl 97| WNw| 154 w| 00 00| 00 72
2 73| 160] 02| 13 w| 34 wl 76 sw| o0 00| 00| 91 2 99| 174 36| 3.7 wnw 7 w|l 106 Nw| 00 00 00| 85
3 58 97| 11| 08| NNW 2| ENE| 29| ENE[ 15 10| 05| 02 3 96 141 53] 32| wnw| 62 w|l 82 wnw| 15 05 05 16
4 80| 158] 35| 1.2| wNw| 41| wnw| 80[ wnw| 0.0 00| 00| 71 4 11.3] 168 75| 33| WNW 6] Nw| 80| wNw| 00 00 00| 82
5 6.2 150| -07| 1.1] wnw| 32| wsw| 6.4 wsw| 0.0 00| 00| 80 5 97| 155 42| 32 wnw| 55 waw| 6.7 waw| 0.0 00| 00| 7.1
6 53| 123] -05| 1.2 N| 33| ENE[ 48[ NNW[ 0.0 00| 00| 80 6 84 125 49| 35 wnw| 56| wNw| 102 ENE[ 0.0 00| 00| 75
7 72| 158 -08] 14 N 3| NNw[ 52 NE[ 00 00| 00| 55 7 100 148 46| 30 w|[ 55 wNw| 7.6] wNw| 00 00| 00 37
8 107] 147 82| 14 w| 48[ wNw| 103 w| 130/ 70| 20 o0 8 137 165| 113 27| wnw| 84| wnw| 125 wnw| 120 85| 30[ 03
9 56| 90| -09] 29| NNw| 54| NNw| 105] wnw| 00 00| oo 77 9 79| 114 21 55 wnw| 87| wnw| 13.3[ wnw| 0.0 00| 00| 69
10 17 79| -25] 18 SE| 48 N| 86 N| 00 00 00| 95 10 47 9.6 17| 40 wNw| 62| Nw| 94| Nw| 00 00 00| 86
B4 75| 143[ 18] 1.3] WwNwW 15 27.9 mikEall 107 161 56| 3.6] WNW 15 32.6
#®¥4a| 61 119 07| 1.7] NNW 13.0 30.7 #%¥4a| 89 130 49 3.7 WNW 12.0 27.0
/)| 68| 131 13 15[ wnw 145 58.6 f| 98 145 53] 3.7 wnw 135 59.6
FEE/| +06| +08] +05 102 106 |EEZ/| +07| +05] +07 58 107




Mg AR A

201451 A1H~108 S8 (87)

HAFRA |BME 10°CULEREHESGR| 25
Bt SURCC) R - ELE(m/s) %7K = (mm) HEE
T | &E | RIE | F9 | &2 | KX | AR | BE | BE | B | 1868 [ 105 | ()

1 12.3] 170 49 36 w| 75| wsw| 137 wnw| 00| 00| 00| 67

2 84| 1720 10[ 17| NE| 45| wsw| 7.1 wnw| 00| 00| 00| 89

3 81| 126/ 24 12| Neg| 27| NE| 41| NE| 20 10 05| 07

4 97| 167] 38 19| NE| 54 w| 95 w| 00| 00| o0 86

5 79| 159 12| 17| ENE| 55 w| 97| wnw| 00| 00| o0 92

6 63| 131 10| 19| NE| 45| ENE| 77 E| 00| 00| o0 89

7 90| 146/ 15/ 25| NE| 51| ENE|] 80 NE| 00| 00| 00 37

8 13.1| 16.4] 98| 19| ENE| 72| wNw| 13.4] wnw| 155 85| 45| 05

9 72| 103] 13| 34| wnw| 82 w| 138/ wNnw| 00| 00| 00| 79

10 35| 93] -17] 22| wnw| 52 wnw| 9.9 wNnw| 00| 00| 00| 97
mida| 93| 158] 27| 20| NE 2.0 34.1
#waa| 78| 127] 24| 24/ NE 15.5 30.7
4] 86| 143 25| 22| NE 175 64.8
FHEE/| 07| +07] 00 80 17
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Hh 5t A B 4R FD 3R

2014181 ~100 =IFE (87)

/1)
BURIFR % BZ& Eid El%;] M #BE ZUD
%7K & (mm) %7K 2 (mm) %7K & (mm) %7K & (mm) %7K & (mm) [%7K & (mm)
Bt | = gx1 [gxo| _. |4 gx1 (&Ko _. |, gx1 [gxo| . |4 gx1 [gxo| . |4 gx1[g8xo| . |4 BX1[®K10
BEt PR wpy | sopg | B |FFE) wpy | sem | BE | FEE| wpn | e | BE | TR e | o | BF [T wm [ om | BF [FRE| mm [ am
1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 1.0 0.5
4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
EAH/BX 0.0 // 0.0 0.0 0.0 0 0.0 0.0 0.0 0 0.0 0.0 0.0 // 0.0 0.0 0.0 // 0.0 0.0 2.0 12 1.0 0.5
6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
8 10.5 35 10 165 6.0 15 8.5 3.0 10| 265 75 15 11.0 5.0 15| 240 10.0 3.0
9 0.5 0.5 0.5 0.0 0.0 0.0 0.0 0.0 0.0 0.5 0.5 0.5 0.0 0.0 0.0 0.0 0.0 0.0
10 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
EAH/BX 1.0 // 35 10 165] 190 6.0 15 8.5 94 3.0 10l 270 // 75 15 11.0 // 5.0 15| 240 136] 100 3.0
a5t 11.0 // 165 132 8.5 71 27.0 // 11.0 // 26.0 82
Lo 10.5 35 10 165 6.0 15 8.5 3.0 10| 265 75 15 11.0 5.0 15| 240 10.0 3.0
[SI=] 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8
BURIFRA HR EE T
[ 7K 2 (mm) (% 7K 2 (mm) (% 7K Z(mm) (% 7K Z(mm) (% 7K 2 (mm) [ 7K 2 (mm)
Bff = | BX1|8BKX10| o |- BX1|8KX10| o |- BX1|8X10| . |- BX1|8X10| o |- Bt |8X10| . |- BX1|&K10
BEt |FEL| ppg | sipg | BF |FHE| why | pg | B |FEE ey | e | BE |FEE| whm | Sem | BE [FEE wm [ sm | BE (TR mm (o
1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 0.5 0.5 0.5 1.0 0.5 0.5 2.0 1.0 0.5
4 0.5 0.5 0.5 0.0 0.0 0.0 0.0 0.0 0.0
5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
F /&KX 1.0 // 0.5 0.5 1.0 14 0.5 0.5 2.0 17 1.0 05
6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
8 135 6.5 15 11.0 5.0 15| 155 8.5 2.5
9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
10 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FAE/&RX 13.5 // 6.5 15 110 126 5.0 15 155 119 8.5 2.5
AlEt 145 // 12.0 86 175 74
CIF 2N 13.5 6.5 15 110 5.0 15| 155 8.5 2.5
e 8 8 8 8 8 8 8 8 8
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